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X � Y
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123242 55 676 8 9:9;<=>? @ =9;
X = [46, 27, 41, 37, 34, 30, 43, 24, 22, 20]

Y = [58, 52, 62, 44, 23, 12, 48, 31, 35, 17]

123242 55 6A 6 8 BC B;<= DE BF9;
X = [46, 35, 39, 37, 44, 30, 28, 25, 22, 20]

Y = [58, 24, 43, 31, 53, 11, 17, 35, 49, 63]

123242 55 6G 6 H <;> IC9JC B;
X = [45, 44, 33, 36, 40, 31, 28, 25, 23, 20]

Y = [53, 64, 30, 58, 44, 18, 11, 35, 23, 48]

123242 55 65 6 K9L 9MN>; I9C BO >P
X = [46, 30, 41, 37, 34, 42, 28, 26, 22, 18]

Y = [59, 18, 62, 24, 30, 48, 36, 11, 42, 54]

123242 55 6Q 6 R <S<T<O <= UC BNSBP
X = [47, 43, 30, 36, 33, 40, 28, 26, 22, 18]

Y = [58, 53, 16, 23, 63, 47, 29, 13, 42, 35]

123242 55 6V 6 W 9CXM B= @CYZ
X = [46, 44, 34, 38, 39, 31, 28, 25, 23, 20]

Y = [54, 64, 17, 57, 48, 13, 37, 44, 31, 21]

123242 55 6[6 W <O J>; U;E<;
X = [46, 44, 34, 37, 40, 31, 28, 26, 23, 20]

Y = [58, 54, 31, 23, 34, 14, 63, 48, 44, 17]

123242 55 6\ 6 ] <SB;N< UC BNSBP
X = [45, 43, 41, 27, 34, 31, 38, 25, 22, 18]

Y = [54, 47, 36, 13, 19, 58, 62, 32, 23, 42]

123242 55 6^ 6 _ `O aC b99E9O c?:``
X = [46, 43, 29, 37, 35, 31, 41, 25, 21, 19]

Y = [59, 48, 13, 24, 52, 19, 30, 44, 35, 63]

123242 55 67d 6 eBP:9;<= fgJ=>T
X = [46, 30, 40, 37, 34, 44, 27, 24, 22, 20]

Y = [58, 17, 49, 29, 63, 52, 11, 36, 23, 43]

123242 55 6776 DEO `?N<= hO >P
X = [45, 43, 31, 36, 34, 39, 29, 26, 23, 20]

Y = [53, 64, 17, 28, 24, 44, 11, 49, 36, 58]

123242 55 67A 6 i?9B= e<L 9;
X = [47, 42, 31, 37, 33, 40, 28, 25, 22, 20]

Y = [58, 62, 18, 25, 52, 44, 11, 35, 48, 27]

123242 55 67G 6 j BSE9N<= I >NE<O
X = [46, 43, 30, 38, 34, 40, 27, 24, 21, 18]

Y = [53, 63, 16, 57, 23, 48, 36, 13, 42, 29]

123242 55 675 6 k 9:<L <= I l U l
X = [46, 43, 32, 37, 33, 40, 29, 26, 22, 19]

Y = [54, 36, 17, 24, 30, 43, 58, 12, 64, 47]
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123242 55 67Q 6 H 9T>Z;<= cl
X = [45, 42, 40, 28, 34, 31, 37, 24, 22, 19]

Y = [52, 49, 58, 12, 63, 18, 27, 35, 24, 42]

123242 55 67V 6 �O �`;<= @ lU l
X = [45, 43, 31, 38, 33, 40, 28, 25, 22, 18]

Y = [54, 64, 57, 47, 17, 43, 34, 11, 24, 28]

123242 55 67[6 � �� ����
X = [45, 44, 41, 35, 38, 32, 29, 25, 22, 20]

Y = [53, 64, 32, 36, 24, 13, 59, 44, 49, 20]

123242 55 67\ 6 UOL 9;J` �l
X = [46, 28, 40, 38, 35, 31, 43, 25, 22, 18]

Y = [57, 12, 30, 63, 17, 54, 48, 35, 24, 42]

123242 55 67^ 6 D`;Y ��Z Sg9;Y
X = [45, 44, 40, 32, 35, 37, 29, 26, 23, 19]

Y = [53, 64, 31, 12, 18, 25, 58, 33, 49, 42]


